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2.Sketchthedirectionsoftheelech.ostaticforces@ineachpairingbelow.
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In the Bohr of the gen atont, the ele (-e) is

in orbit about the nuclear proton (+e) at a radius of
5.29x10-ll m. Determine the speed of the electron,

assuming the orbit to be circular

þ ,&

C

rnû55 ,l el

r:

üwn-

, JO] 
l¡ q

J)

t"bx¿0{1¿)
z

aua' 1'+4

,l
-e

/T,u= ffiü"= rY)ú^
ffi= \ \

( K('
K

û"41*10
2,Lt lc'q

5lc r' (nú' (,l"tl, lA" [,6Yç n¡lo'"ro'r )r
4. Three charges are placed along a line at the positions indicated.- (() (()

What is the net force on charge qr?
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5. The three charges are now placed at right angles, as shown'

What is the net force on charge qr'?
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Electric Fields
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L Electric field a

positively charged object

4. Electric freld around
two positive charges
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Properties of Electric Field Lines
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Electric eld Diagrams

Test charge

2. Electric field around a

negatively charged object
3. Electric field around

unlike charges

t
5. Electric field around
two negative charges
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6. Electric field between t'-

oppositely charged parallel p. .s
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the resultant force is in two different directions at onceb) They nC{Ûf since this would indica

úfcs s
c) The direction of the electric fìeld at any point is

d) The density of the field lines is proportional to the strength of the field
most intense where the field lines are most dense.

I0 *fÐ 0n tuJ fJ (out of positive, intoa) They show the
negative).
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